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Answer the Questions from any one€ Option.

OPTION - A
For Honours Generic/Regular
Paper : BOT-HG-3016/RC-3016

( Plant Physiology and Metabolism )

OPTION-B
For Honours Generic
Paper : BOT-HG-3026
( Environmental Biotechnology)

Full Marks : 60
Time : Three hours

The figures in the margin indicate
full marks for the questions.

Answer either in English or in Assamese.
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OPTION - A
(Plant Physiology and Metabolism)
Paper : BOT-HG-3016/RC-3016

Answer the following as directed :

1. Choose the correct answer of the following :

(any seven) 1x7=7
Te R’ uw TeRn! A ofFedt ¢ (R
)

(i) Which of the following forms of water is
absorbed by plants ?

fa) Run away water

(b) Hygroscopic water

(c) Capillary water

(d) All of the above

TR (Y SN BfEw e IR AR
(@ R R 2N

(b) wSl AR AW

(c) T At

(d) ¥R FIEARR

(i) What is root pressure ?

PO R
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(iii) Transpiration is a necessary :

(iv)

(v)

(V1)
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(Fill in the blank)

ST T <O AEeE |
(2T 12 7@ F41)

What is meant by ‘antitranspirant’ ?
‘g’ ww & 9 I

Who proposed Active K* transport
mechanism for opening and closing of
stomata ?

(a) Steward

(b) Sayre
(c) Loyd

. (d) Fujino

ST B S RIS AHCE P AET
SRR S SRR g SRERE ?

(@ s
(b) HIER
(c) G

d) T

Name one instrument to measure the

rate of transpiration in plants.
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ferat
(c) #H

(vir) Diebgck disease is caused due to (d) e% Be wTw
deficiency of
{a) zinc {ix) Vernalization was discovered by
(b) copper {a) Garner and Allard
(c) boron ~ (b) Lysenko
(d) iron (c) Kurosawa
RS G R el 22 (@ Miller
(@ fo T WRER <
(b) TR @ SRR T 9=7E
(c) T - (b) wNRGE
(d) = (c) JTLIBR

(viti) Mass flow theory of organic solute (@) R

translocation was proposed by

(a) Fenson (x) What are thyllakoids ?

~

(b) Spanner IR Fe

« {c) Munch . ..
(xi) Assimitatory powers produced during

{d) None of the above photosynthesis are
[e=r

) AR T b TSRS Wiof IpTEfeE (a) ATP and NADPH,
(@) =4 (b)) HoO and O,

y S) B
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2. Write short notes on the following: (any

(c) RuDP and RuMP four) Dr4=8
(d) CeHy20e and PGAL (a) Osmosis

TR e Tedm (2l ST (b) Guttation

@ (T2 (c) Chloroplast

(a) ATP &% NADPH; (d) Krantz anatomy

() HyO % O, (e) Types of transpiration

(c) RuDP =% RuMP () Abscissic acid

(d) CeHyp0p T PGAL " (g) Photosynthetic pigments

(h) Day neutral plants
(xii) Respiratory quotient (RQ) is represented

by o faiad 59 G il 2 (R sifasn)
(@ C/N (a) wwife
(b) Ny/O (b) T
() 0/COy (c) FAAR Al ez
@ COy O, (d) TG Fa AN
R TS (RQ) T4 | (g} 2w ST
@ C/N ) o :
b Npy/Os () AT G &I
(h) fm facer= Tfgw
(c) 0/CO;
(d) COx/ 0 3 (Sem-3/CBCS) BOT HG/RC/G 7 Contd.

3 (Sem-3/CBCS) BOTHG/RC/G 6




3.  Write short notes on the following: (any

three) 5x3=15

(a) Components of water potential

(b) Cohesion of water and transpiration
pull theory

(c) Photorespiration

(d) Mechanism of enzyme action

(e) Auxins

() Anaerobic respiration

(g) Vernalization

(h) CAM

T VAR 59 Gl R 2 (Rizarzan el

(a) TSR TAMITTIZ

(b) AR AIfE SR et q9 Toaw

(c) STEHmHTET

(d) <aERa fFfiy

fe) RO

() =TS w7

(g) FTTAY

(h) CAM
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4. Answer any three of the following

questions : 10%3=30
wwid fararer ffsr 2ma Tea a1

(a) What are different sources of nitrogen
for higher plants ? Describe the
biological nitrogen fixation. 2+8=10

Twasa Tfgwm ang AEsree Jea SO @
57 TGl AizsrEn fefowa ama adal #4 |

(b) What is translocation of organic solute ?
Describe the mechanism  of
translocation of organic solute in plants
with the help of pressure flow model.

SR W)~z [F2 59 2[E TIAE FATTS
Bigwe (o7 v AR eifFas 3k &=

(c) Describe different types of factors
affecting the photosynthesis.
ACEARPREENT deR (AR [fes owR"e
FRPTR 361 |

(d) What is photosynthesis ? Give a
detailed account of cyclic and non-cyclic
electron transport in photosynthesis.

2+4+4=10
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ACAFREAT 52 AEAPRETR 581w,
WG Berrge Az R 3% B

~ (e) Describe the chemical process of EMPp
pathway. Write about net product of

EMP pathway. 8+2=10
EMP 3 39iRfa@ @arett 2ol 11 @i Epp
TR 3 Teoiwng Ry foya |

() Give a detailed account of the Krebs
Cycle. Mention its significance.

@mﬁaﬁwﬁ«qﬁmlm@eﬁ@ffm

(@@ What is photoperiodism ? Discuss how
~ the plants are classified on the basis of

photoperiodism. - 2+8=10
nfeem eifefem & TeIeR ofs gryez
IR evve g of Ciemzs fawe
(2Tl 31 Lare Sy 1|

(h) What is plant growth regulator ?

Discuss the physiologica] role of
Gibberellins in plants.

%ﬁ@wf%ﬁmas?%ﬁmf%mﬁﬁmwﬁﬁa
SRR SiESa; 7y |
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